OnpenesieHMe MIOJIOKEHMM MEeXaHMSBMOB MeTomgoM lparmiéea

TpexX3BEHHLI IPOCTPAHCTBEHHBII MeXaHWU3M
r:=10 h:=12 L:=32

KOOpIU/IHaTbI HadvaJIbHBIX TOUEK

I X0 ,=h
X0 ;=(-1r) cos E] X0 ,=-r-cos —] 3
X0 4:=20.580129 X0 5==T X0 6:=0
YpaBHeHUA
2 2 2 2
f1=[x 1] +[x 2] +[x3—h] -r
2 2 2 2

3:
f4:=x5+r
f5:=x6

[f]—IoBopoT BOKPYT OCElM KOOPAMHAT

[H—Dragilev's Method

tmin:=10 tmax:=63 At:=1 _ tmax N=63

N:
At

B:=D(X0, tmin , tmax , N) {Manmua KOOPIMHAT ]

r

[F—VzobpaxeHue ocelt

Xl(k , t):= Bl:= submatriX(B ,1,N,2, 4) [Zd KOOPAOMHATH WIapHMUpa KpI/IBOIIII/II'Ia]
Bll:=eval(B1l-y)
col(B11, k)

t+1

x2(k, t)=|B2:= eval(submatrix (B ,1,N,5, 7)) [2d it i nonsyﬂa]
B22:=eval (B2 y)
col(B22 , k)

t+1

[FHl—cilinders







